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Solving Logarithmic Equations Date:

Solve each equation.

1) logx— log4=3 2) —3logs(x—2)=—12
3)10g(16+2b):10g(b2_4b) ..................................... 4)_10g57X:2 .............................................................
5)10gx+5:2 ............................................................. 6)loglz(vz+35):10g12(_2v_1) ................................
7)210g772X:O ......................................................... 8)10gx+10g2:4 ........................................................

....................................................................................................................................................................................

9) logl0 + logx =1 £ 10) logg(x + 1)— logsx = log, 29

....................................................................................................................................................................................
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1)

logx — log4 =3
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3)

log(16 + 2 b) = log(b?> — 4 b)
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2) =3 log(x-2)= - 12
: {84}
4) — logs7x=2
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5)

logx + 5=2
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£ 6) log,(v2 + 35)=log,,(-2v— 1)
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: 8) logx + log2=4
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9)

log10 + logx =1

{5}

£ 10) logg(x + 1)— loggx = logg 29
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